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Solution for exercise 3.5.10 in Pitman 1

Question a) X is Poisson distributed with parameter λ. Using page 175, linear
functions of X,

E(3X + 5)=3E(X) + 5

and the mean of a Poisson distributed random variable page 223, we get

E(3X + 5)=3E(X) + 5=3λ+ 5

Question b) Using linear functions of X page 188, - here called Scaling and
Shifting, and the variance of a Poisson distributed random variable page 223. We get

V (3X + 5)=9V (X)=9λ

Question c) We use the definition of the expectation of a function of a random
variable p.175, we get
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